iR{TIEMAER S

E 81 SH SR =5
PR 30
= a
mE
E SHLLT
5h-10hH
13.14%
it « 10 E -20 E
ECI]E- 10 r:._ Ia]
E ST G FErn ! == DRRELT
=H
E AETEE
p 7l
9.7
i i ! ! ! 40.00%
75 — S !
ﬁ B Ras
EI SLERE=ATOR10
q 100,000 89 468 26 184 25 04
A 76,523
g 69 B8R/ 66,402
% 50000
ﬁ 37,282
2217
19 BEBE 18 962
T o l H B
TES F 4t | T BE s B AR BT e BrE
b

31-40= B FEFERE TR

422587198707277148 I HEE ERiEREE 105-207

057933200606033350 == 41-50= i KEFEER RS G aEsHE:. SENE 5h-108

774252197008038998 ZHr 31-40% = R ERiEREE aBsEs. piERE 105-207

188238191410148910 S 41-50= i KEFEER mREREE e 105-207

042348194003140474 HIEE 31-40% = TERELT EXE R aBsEs. piERE 5075-10073

766251190510106885 BE% 41-50= i KEFEER RS G it 5075-10073

701039196907275304 Gowa] 41-50= iz TERELT ERiEREE i 100RLAE

I 360 EIEE 1 A >



